2 | mapexample.nb

nies;= f2 = ReplaceAll[f, x » f]
Plot[{x, f2}, {x, -1, 0.5}, PlotRange » {-1, 0.5}]
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nesi= 3 = ReplaceAll[f2, x » ]
Plot[{x, f3}, {x, -1, 0.5}, PlotRange » {-1, 0.5}]

outesl= -2 (-2 2x-4x%) -4 (-2x-4x> 2 4 (-2 (—2x-4x%) -4 (-2x-4Xx? 2)?
-2

T

0.4

T

T 177

ok 3:x1 p

T T

T T F

Notice there is a second
P3 orbit (unlabeled).

Out[26]=

|
o
()
T T

|
o
N
T T

T

/ 3:x2 -0.6

T T T

xf

|

o

™
T

T


thomascarr
Typewritten Text
f    (x)

thomascarr
Typewritten Text
(2)

thomascarr
Typewritten Text
f    (x)

thomascarr
Typewritten Text
(3)

thomascarr
Typewritten Text
xf

thomascarr
Typewritten Text
xf

thomascarr
Typewritten Text
2:x1

thomascarr
Typewritten Text
2:x2

thomascarr
Typewritten Text
xf

thomascarr
Typewritten Text
xf

thomascarr
Typewritten Text
3:x2

thomascarr
Typewritten Text
3:x3

thomascarr
Typewritten Text
3:x1

thomascarr
Typewritten Text
Notice there is a second
P3 orbit (unlabeled).




